Holy Name of Jesus School

Summer Reading and Math Work (Accelerated Math)
Students Entering Grade 6 - 2020/2021 School Year

READING:

Students entering Grade 6 are required to read the following book:

Hatchet (Gary Paulsen)
Students will be assessed on the story and should be prepared for in-class discussion.

Assignments:
e Students must choose one (1) additional book from the list below:

Holes (Louis Sachar)

Julie (Jean Craighead George)

The Best School Year Ever (Barbara Robinson)
Anne of Green Gables (Lucy Maud Montgomery)
The Cay (Theodore Taylor)

Brian’s Winter (Gary Paulsen)

Jacob Have I Loved (Katherine Patterson)

e Students must complete a different chart for each book read (two charts forms are
included)

READ 20 MINUTES THREE OR FOUR TIMES A WEEK. KEEP A LOG OF BOOKS READ.

ACADEMIC MATH: Pages1-10



Conflice Chare

Title of Book:

Auﬁhori

Deﬁniti_on of Conflict:

e

A struggle between two opposing forces or characters
-Types:

Internal Confliot exists when a character struggles with himself or herge]f over an isgue

External Conflict exists when 5 character struggles with other people or forces,
Key forms include: person against another person person against society
person against g higher being '

DET80n against nature

Select one major ex

ample of conflict from your summer reading,
below.

and describe & in the boy

Conﬂict

Is this conflict internal or external?

Does this conflict fall into on

: one of the key forms of conflict? If yes, which form? If no, what
form does the conflict take?-

List who or what is involved in the conflict,



Name three instances in the story where this conflict is evident. Provide a quotation from
the book as evidence of the conflict. :

/Quote #1 \ (P&Ee ———)

\_ J
@ote #2 | \ poge )

: (page )
@te #3 \




CharaCterization Chare

Title of Book: _ ’
Author:

Definition of Characterization: - .
====2U0n o Uharacterization:

e The personality g character displays
o The way an author reveals a bersonalif:y

When characterizing Dersons, you describe...
‘ * their Bppearance, how they lopk
* their actions, how they behave

* their comments, what they say
* their qualities op peculiarities, how they show their poeitive or negative traitg

Select one main character from your required siimmer reading,

Character

In 2-3 sentences, describe hig or her..,
¢ Physical Appearance

&« Actions —
e Thoughts or Words —

Also, what do other characters thi , f
bullet points.



Name three traits that describe your character. Provide one quotation from the book as

evidence of each trait..

o

AN

\

Grait #2

\_

4

Trait#3

)\

Evidence/Quote from the book

Support #1 (page )

Support #2 (page )

Support #3 (page )



. ST
Acce levaied Math
/ : -

Name _

Directions: Put all work on loose leaf and attach it to the assignment. Assignment is due the

first day of school. '

4. Lester and 'Kari are pla‘ying a number
pattern game. Karf wrots the Tollowing

_ pattern. ' :

. 455.49,525, 595
What is the unknown number in the
pattern Kari wrote?

1. Dan’s science magazine has a mass of -
256.674 grams. What is the mass of
his magazine rounded to the nearest
tenth? |

. A 257 grar;is

B 256.6 grams

| c _2'5;6..7"grams A.bB55
D 256.67 grams B 56
c 565

D 58

5. Laura rode her bike for Sg hours on
Saturday and for 4—} hiours on Sunday. -
Which Is the best estimate of the time
Laura spent riding her bike on Saturday
and Sunday?”

2. The middle school is 2.72 kilometers
from Marsha’s house and 1.54 kilometers
from Ryan’s house. How muich farther
does Marsha live from the middle
schdol than Rygn?

A 11.18 kilometers _
- A about 9 hours ' .

. B 1.28 kilometers .
' - B about 8 hours

c 1.18kilometers -
. €' about 7 hours.
2 0.18 kilometer about /7 hours

‘B about 6 hours

]

3. Rico’s backpack_ weighed 3.6 pounds.

" Then he added his school books which
weighed an additional 24.76 pounds.
How much did Rico's backpack weigh
with his school books?
A 60.76 pounds
B 28.36 pounds

- © 27.82 pounds

B 25.12 pounds

Assessment Guide

B Hennhton Miffiin Harcnimt Puhlichinn Camnnmt



6. Brent has a piece of rope that is 62 feet
long. He tiseés 41 feet of the rope to
hang a tife swing. How much rope does
hHe have left?

5
35 feet
B 31l feet
‘ 2
2.
C 2§ feet
2] 2i feet
2
7. John has 3 bundles of wood weighing a
total of 353 pounds. Twa of the bundles
weigh- 12§ pounds and 8} pounds. How

much does the third bundle weigh?
A1 _4%-po'unds

B 1 87 pounds’
' 3

c 235 pounds
D 27% pounds

8. Maria'practiced for herpiano recital
each day for three days. The first day she
= practiced for% hour, the'second day she
practiced for 1;_1, hours, and the third day
she practiced for 2;1— hours. By how much
did she increase the time she practiced
each day? :
A % hour

1
B 5 hour

3
c 7 hour

7
D 8 hour

Assessment Guide
© Houghton Mifflin Horcourt Publishing Compony

Page 2
8. A fruit salad rectpe calls for 2 yi pound of
apples and 2 £ pound of dates. What is.
the least common denominator of the
fractions?

A 16
B 20
c 24
D 25

i0. Ona coordinate grid, Ming’s house s

located 2 blocks to the right and -

5 blocks up from (0, 0). Joe's house is
located 3 blocks to the right and

2 blocks down from Ming’s house.
What ordered pair describes the
location of Joe’s house?

Y |
ML

c _
%3
~2
1
012345 X
A (3,5)
B (3, 2)
¢ (53
B (4, 3)
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| Page3
3. Otis s cutting a long piece of wood trim
into smaller pleces for an art project,
The line plot shows the length of the
smaller pieces of wood, -

11. What is the unknown number in.
Sequence 2 in the chart? -

X X

X X

X X X
X X . X
0
1 1 2
3 2 3

- 'Length of Wood Pjeces {infeet)

How many pieces of wood will be at

.. _ . : ST .
12. The graph shows the relationship least 5 fDOt_'__” length?

- r

between the number of weeks and A9’
the number of hours spent on the B 7
computer. '
D Cc 6
Computer Time
. D 4

3 14. Adelais buyxjﬁg a DVD player on -
I layaway for $210. If she makes a down
; payment of $30 and pays $15 each
: ‘week; how many weeks will # take
3 4 ,,_7 - Adela to pay for the DVD player?
L . 1 ) -
A . 1o 8
ANEEEN by
0 12345 % c 16 :f
Number of Weeks s

, D 14
What rule relates the number of weeks - |
to the number of hours of computer

time?

A Multiply the number of weeks by 3. -
B Multiply the nurmiber of wesks by 2:
e Multiply the n umber of weeks by 21,
B Multiply the number of hours by 3.

Assessment Guide
® Houahtnn Mifflin 1




15. Tony drew a picture of his vegetable

16.

garden.

What type of quadrilateral is Tony's
vegetable garden?

A - rectangle

B rhombus

¢ parallelogram -
D traplezoid.

Kevin made a jewelry box with the
dimensions shown.

/Scm

10 ecm

T15¢cm

- What is the volume of the jewelry box?

A 750 cubic centimeters
B 225 cubic centimeters
€ 150 cubic centimeters

B 75 cubic centimeters

Assessment Guide
© Huug!ﬂnn Mifilin Horcourt Publishing Compony .

17,

Page 4

The bricks Mr. Johnson used to make
his patio are shaped like regular

octagans. Which of the following

18.

19.

describes a regular octagon?

A é'ﬁg'ure with 6 sides and 6 angles
that are not congruent

B afigure with 6 corigruent sides -and
6 congruent angles

¢ afigure with 8 congruent sides ang
8 congruent angles '

B afigure with 5 congruent sides and
5 congruent angles

A shipping carton in the shape of g
rectangular prism has a volume of
7,776 cubic inches. The base area of

the shipping carton is
432 square inches. What is
the height of the shipping carton?

A 15 inches
B 18 inches
€ 19inches
D 28 inches

The Ceramic Tile Company uses 32 tjles
for each counter top it makes. About
how many counter tops can it make
from its last shipment of 1,486 tiles?

A 65
B 60
¢ 50
B 40
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| Page 5
23. Miguel has 48 coins. Of the 48 coins;
g are dimes. How. many of the coins are

20. The swimming instructor has a list
of.152 students who have signed up.

for swimmirig lessons. The swimming dimes?

instructor can register 12 students in 3 O

each class. What is the least number of A ‘
_-Classes needed for all the students o B 26

be registered in a class? e 20

B 13

c 14

D 15

24. Dominic spent 23 hours on his at
project. Rachel worked 13 times ag long
on her art project as Dominjc worked,
For how mahy hours did Rache| work

21. Kayla hasaT -shirt store. She sold three
times as many white T-shirts as blue
T-shirts. She sold a tota) of 48 T-shirts.
How many white T-shirts did Kayla sell?

A 48 on her art project?
B 36 A 2% hours
c 24
D 12 B 3hours
¢ 3% hours
7
B 45 hours

22. The owner of a music store received a
' shipment of 1,532 CDs. The CDs came
in 87 boxes. The same number of CDs
were in 36 of the boxes. How many CDs
.were in the remaining box?

25. Ariana has % q'uart of milk. She uses .
3 of it in a cookie recipe. How much
milk did Ariana use in her recipe?

A 2 A Slquart

B 10 B %quarf
c 20 ;

o 41 c §quart
1.

- D Equart

Assessm ent Guide
© Houghton Mliflin Barcourt Publishing Compony



z6. Brian had 42 class fair tickets to sell. He
sold 2 of the tickets. How many tickets
did Brian sell? .
A 40
B 35
c 25
B 7

27. Zoey made 63 cups of fruit salad fora
picnic. At the picnic, they ate 3 ofthe
fruit salad. How much fruit salad did

they eat?
1
A. 1Z cups

B 13 cups

NS

- nl
c 24cups

1
D 34 cups

28. Hiroshi is stacking bricks to make a
garden wall. There are 18 bricks in all.
If each brick weighs 5.3 pounds, how
much do the bricks weigh in all?

A 954 pounds
B 95.4 pounds
¢ 144 pounds
D 954 pounds

Assessment Guide
.® Houghton Mifflin Harcour{ Publishing Compuny

Page 6

20, A 120-watt light bulb uses abott

0.1 kilowatt of electricity perhour. If
electricity, costs $0.20 per kilowatt hour,

" how rnuch does it cost to have the bulb

on for an hour?

A $0.02

B $0.20

e $200 )
. b $20.00

so. Jeff had reached the highest level on

his new computer gare. The computer
reported his score as 1.35 X 105
points. How should Jeff write hlS score

. in standard form’?

A -135
B 1,350
¢ 13,500
b 135,000
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34 Luis has 2 5 quarr of grape juice. He
pours the same amount into each of
5 glasses. Which equation represents

r

31. I\/lano went on a h:ke with his friends.
They hxked 2.24 mx!es an hour for
8 hours. How many miles did they hike -

in all?
. the fraction of 3 quart of grape juice n
A 1792 miles that is in each glass’?
| B 17.;9.2 miles A _g__; % =n B
€  19.92 miles 5
B 1792 miles B5+2=p
5 . g _
c g™ 5 =n
5+8=p

35. Yoko evaluafes 7+1 5 by using a
related muitlphcanon expression. Which
multiplication expression should she

32, There is % gallon of fruit punch that
will be shared equally among 5 friends.
What fraction of a gallon of punch will

each friend get? = .- use?
. 11
A 7 ga”on ‘ A =X 5
B %gal{on B 7X6
1 1

o m 8”0“ < ?X 6
i gaHon p7x1
12 6

33. At Iunch 8 friends share 6 sandwiches
equally. What fraction of a sandwich
does each friend get?

0w

©
W= D= o pe

Assessment Guide
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36,

37.

Scott made a casserole fdr dinner.
He gave equal portions of “of the
casserole to 4 friends. What diagram

' could Scott use to find the fraction of

the whole casserole that each
fnend got? -

Adela rode her bicycle 18.3 miles in

5 hours. Which gives the best estimate

of how far Adela rode in 1 hour?

A between-5 and 6 miles

B between 4 and 5 miles -
¢ between 3 and 4 miles
D between 2 and 3 miles

Assessment Guide
© Houghton Mifflin Horcourt Publishing Compony
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Page 8

. . . {
/8. Lauren is running in a marathon to

raise money for her favorite charity.
The total distanice of the marathon is
12.5 miles. So far she has run ~ of the
marathon. How far has Lauren run? |

A 12.5'r‘niles

B 2.25miles
¢ '1.25 miles
B 0.125 mile

Tony is making small bags of bird seed
from a larger bag of bird seed that
weighs 11.16 pounds. If he puts the .
same amount of seed in each of 6 bags,

- how much will each bag weigh?

40.

A 0.18 pound
B 1.86 pounds
¢ 1.96 pounds
B 2.86 pounds

Leon bought trail mix that cost

$0.78 per pound. He paid $6.24 for-the
trail mix. How many pounds of trail mix
did he buy? '

‘A 8 pounds
B 7pounds
¢ 0.8 pound
2 0.08 pound

S
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- 41, Jordan spent a tdtal of-$14.85 ona

trip'to the zoo. She spent $6.50 to get

into the zoo and $2.85 on snacks. How -

much did she spend on bus fares to
and from the z00? C

A $5.05
B $550.
e. $8.35
D $9.35

42. A museum announces that it has just
-had Its 1,326,871 visitor. What is the
" value of the digit 6 in 1,326,8717 -

A 6000
B 60,000
© 600,000
B 6,000,000

43. Ricardo just-received a shipment of

50 tool sheds for his garden supply

stare. Each shed costs him $40. Which -

of the following could Ricardo usé to

find the total amount he wil| pay for the
tool sheds? S

4 (5X4) x 107 =200

B (52X 4) x 102 = 2000

€ (5 X 4) X 10° = 20,000
B (5X4) X104 = 200,000

Assessment Guide

Pageg

44. Mark's father travels 463 miles every
month for his:job, How many miles does
he-trave] ;'n 8 months?

A 3,204 miles

B 3,284 miles -
€ 3,604 miles
D - 3,704 miles

45. Lucas and his sister Luisa are saving to

buy & birthday: present for th eir mother.
The present costs $95, Lucas earns
$16 per week running errans for
neighbors'and spends $7 of it. Luisa
eams $24 per week babysitting and
spends $12:¢f it. Which expression can
be used to find how many weeks it wil
take t0 save for the present?

& 95+ [(16+7) = (24 — 12)]

B 95+ [(16 +7) - (24 + 12)]

¢ 95 +[(16-7) + (24 — 12)]
B 95+ [(16-7) + (24 + 12)]




48, Hoy uploaded 56 photos to his
computer. He put an equal number -
of photos in each of. 8 folders. Which
multiplication sentence could Hoy use
to find the number of photos in each

folder?
A B8XQ9=72
B 8 X 8=64
e 7 X8=56
D 6X8=48

41. Ella’s home is 1,200 feet from the mall.

How many yards are in 1,200 feet?
A 300yards

B 400:yard.s

¢ 450 yards. .

p 600 yards

48. Mason bought 64, ounces-of modeling
. clay. How many pounds of clay dnd
he buy?

A 2 pounds
B 3 pounds |
¢ 4 pounds
B 6 pounds

Assessment Guide
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Page 10

48. The movie started at 6:32 p.w. and
ended at 9:48 r.m. How long did the
movie last?

A 2 hours 6 minutes -
B 2 hours 16 minutes
¢ 3hours 16 minutes
p 3 hours 6 minutes

50. Ben used 325 centimeters.or ribbon
to trim banners he made. How many
meters of ribbon did he use?

A 0.0325 meter
B 0.325 mmieter

s 3.25 meters
B 325 -meters

P O S T ParrTr
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